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14 24 34 45 54 6 14 24 34
Rk 15 B 116.1 121.6 127. 8 133.4 138.5 144. 5 151.9 159. 8 164. 0
16 & 116. 2 122. 2 127.3 133.3 138.5 144. 8 152.0 159. 1 165.0
17 & 116. 4 122.0 127.5 132.6 138. 4 144. 5 152.5 159. 4 164. 6
WL EREER
(m) & ®H AT : ke
/N == % H == iy
£ E
14 24 34 4 54 6 14 24 34
SRR 15 BB 21.5 23.8 27.2 31.2 34.1 39.1 43. 6 50.5 54.0
16 £ & 21.3 24.0 26. 7 30.5 34.4 38.3 44.5 49. 6 56. 0
17 FEpE 21.9 24.1 27.3 30.1 33.9 38.6 44. 0 49. 6 54.4
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£ E
14 24 34 4 54 6 14 24 34
SRR 15 BB 04. 6 67.1 70.0 72.7 74.9 77.5 81.6 85.5 87.7
16 £ & 064.9 067.6 69. 8 72.7 74.9 77.6 81.6 84.9 88.5
17 & 064.8 067.5 70.0 72.2 74. 8 77.5 81.8 85.4 88.2
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1 25 3 44 5% 6 14 24 3

R 15 B | 115.7 120. 6 127. 4 132.5 139.5 146. 6 151.3 154. 8 156.0
16 4 | 115.2 121.4 126. 4 133.5 139.0 146. 2 151.8 1564.7 156.3

17THE | 115.7 121.0 127.0 132.3 139.9 145.8 151.6 154. 9 156.0

(m) & = HAL @ ke

1 25 3 44 5% 6 14 24 34

Rk 15 EE 20.9 23.0 26.7 29.7 34.6 40.0 43.6 46.9 49.9
16 FFBE 20.7 23. 1 25.8 30.0 33.3 39.4 44.5 47.6 49.9

17 E 20.9 23.2 26.1 29.3 34.0 38.3 43.9 47.8 49.9

o =] BALT : cm
/I 2 % Fh ¥R
g F

1 25 3 44 5% 6 14 24 34

Rk 15 64. 2 66. 9 70.1 72.6 75.6 79. 4 82.2 84.0 84.9
16 FFBE 64. 4 67.1 69. 7 72.9 75.6 79.0 82.6 83.5 84.9

17 HFE 64. 4 67.1 69. 7 72.4 76.0 79.2 82.5 84.6 84.8
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